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i H—E RiZfit RENE S NEERE FAEAHE BEE BE NEREZS B 8Hz
B=E ENEE {AHsR{EME T EEME WBHEME &&t &%
H%E =k =k =k ER B HiE HiE HiE HE%E
ERE 380 300 8,503 1.403
F2RM 480 600 8,103 1.803
EXR 880 1,000 7,303 2.603
ENiE 6,030 180 130 890 5 3ERPE-2 880 1,300 7,003 2.903
HEAHE 6,507 399
2Z|&48 1,231 1,445 5,784 4122
RETI=EL] 5061 Z
EREA 380 300 9,205 1.481
FE2RE 480 600 8,805 1.881
5 IEEFE-1 880 1,000 8,005 2.681
B2 6,720 180 130 980 FEIRE-2 880 1,300 7,705 981|
EAXHE 7,209 477
PETR=EE 1,231 1,445 6,408 4278
REJR=ERE 5607 079]
ERETE 380 300 9,961 565
EVEAA 480 600 9,561 1.965
EXI 880 1,000 8,761 2765
ENiES 7,450 180 130 1090 R ) 880 1,300 8,461 3.065
EAHE 7,965 .561
PETR=EL] 1,231 1,445 7,080 4.4/
REJEZEE] 6,195 533
F1ERE 380 300 10,672 1.644
EET 480 600 10,272 2 044
ER 880 1,000 9,472 2.844
&= BN 8,150 180 130 1180 F3EX[E-2 880 1,300 9,172 3.144
EARHE 8,676 .6
PETR=EE 1,231 1,445 7,712 460
RETRZEE 6,748 556
ERAL 380 300 11,383 1.723
EVEAA 480 600 10,983 2123
EX 880 1,000 10,183 2923
ENiES 8,840 180 130 1280 FEI3RME-2 880 1,300 9,883 3.223]
HEAHE 9,387 719
PERCE] 1,231 1,445 8,344 4762
RET=EL] 7.301 805}
51 ERE 380 300 6,811 1215
EVTA 480 600 6,411 5
FEIERE-1 880 1,000 5,611 2415
EXE1 4510 180 0 660 EIEFE-2 880 1,300 5311 2715
HEAHE 4815 3211
2E| & 3H 1,231 1,445 4,280 3.746
RET=EE 3745 4981
EREA 380 300 7,936 340]
EEA 480 600 7,536 1.740
55 3ERfE-1 880 1,000 6,736 2 540
BEXiR2 5,610 180 0 810 5 3ERRE-2 880 1,300 6,436 2.840
EXHE 5,940 3.33
2Z1548 1,231 1,445 5,280 3.996
3Z| &8 4,620 65
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B=E ENEE {AHsR{EME T EEME WBHEME =H &%
=k H%E HiE HiE B HiE HiE HiE =E:E]
EA 0 300 8,567 1.023
A 430 600 7,837 1.753
) ERE 430 1,000 7,437 2.153
EN# 6,030 180 130 890 5 3ERPE-2 430 1,300 7,137 2.453
HEAHE 6,507 3.08
PETR=EE] 915 1,445 5,784 3.806
RETDZEE] 5061 9
R 0 300 9,269 1.101
ERE 430 600 8,539 1.831
] 5 31 430 1,000 8,139 2.231
ENE2 6,720 180 130 980 FEIERMHE-2 430 1,300 7,839 2.53
EAMS 7,209 3.1
2E| &3 915 1,445 6,408 3.962
REIEEE 5,607 763
R 0 300 10,025 .185
EA i 430 600 9,295 1915
i 55 BER[E-1 430 1,000 8,895 2315
EN# 7,450 180 130 1090 ER ) 430 1,300 8,595 2.615
EAHE 7,965 .245
2Z|&48 915 1,445 7,080 4130
RETE=EE 6,195 015
ER 0 300 10,736 1.264
E 2R 430 600 10,006 1.994
i S IEEE-1 430 1,000 9,606 2.394
ZRE EN\#4 8,150 180 130 1180 E3ERRE-2 430 1,300 9,306 94
EXHE 8,676 32
2| & §E 915 1,445 7,712 428
RET H 6,748 525
EREA 0 300 11,447 1.343
EA i 430 600 10,717 2.073
) EXE 430 1,000 10,317 2473
EN\#5 8,840 180 130 1280 5 3ERRE-2 430 1,300 10,017 2.7173
EXHE 9,387 -
PETR=EE] 915 1,445 8,344 4.446
RETR=EE] 7,301 5.4
E 1R 0 300 6,875 35
EPE 430 600 6,145 565
B FEIERE-1 430 1,000 5,745 1.965
EXE1 4510 180 0 660 5 3ERPE-2 430 1,300 5,445 2.265
HEAHE 4815 895
2Z| &3 915 1,445 4,280 3.430
RETEEE 3,745 3065
EREA 0 300 8,000 960
EVEA 430 600 7,270 1.690
_ ERE 430 1,000 6.870 2.090
BEXiR2 5,610 180 0 810 55 SERRS-2 430 1,300 6,570 2.390
EXHE 5,940 3.020
22548 915 1,445 5,280 3.680
3Z| &8 4,620 340




